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Part-A 5 x 1 = 5

Trade within the country is called -----------

(a) Primary  (b) Secondary  (c) Tertiary

Droughts, erosion and global warming are caused due to ___________

(a) Deforestation  (b) A�orestation  (c) Hunting

Water table is lowered when ____________ activity increases

(a) Mining  (b) Hunting  (c) Fishing

The percentage of cultivable land prone to drought is

(a) 90%  (b) 70%  (c) 60%  (d) 55%

The word "Tsunami" is derived from

(a) Greek  (b) Latin  (c) French  (d) Japanese

Part-B  5 x 1 = 5

Rubber and Tin are found abundantly in --------

-------------cheapest means of treansport

______________ a�ects a large number of people living in 110 countries.

The rise in population has been steadily rapid since __________.

_____________ and human factors a�ect the distribution of people across the world.

Part-C 5 x 2 = 10

What are the two main categories of commodities that enter into the world trade?

Write a note on Indian Railways.

What is Tsunami?

How many districts are cyclone hit in Tamil Nadu?

Write any two points on transport safety management in schools.

Part-D  5 x 3 = 15

Write a short note on  balance of trade.

What do you know about Inland waterways?

What are the results of over - exploitation of resources.

What are the ill - e�ects of over - population in the developing countries?

Define 

a) Birth rate 

b) Death rate 

c) population Density

Part-E 3 x 5 = 15

Give an account of the world's major trading regions.

The development of transport and communication  is important for the development of a country -Discuss.

How is remote sensing satellites helpful in managing resources?
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